1. A machine in which the language recognized is composed of binary strings of length 4. Recognized strings would include 0000, 1111, 0101, but not 01, or 00000.
2. This example accepts binary strings of any length or composition provided that each contains at least one substring of "11". 
3. http://www.jn.inf.ethz.ch/education/script/chapter2.pdf See the coin changer.

4. cs.ua.edu/434/Classes/04_FSM.ppt
What does the following FSM do?
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5. Write a robust program that implements the Craps game explained below. Use the Finite State Machine (FSM) design we developed during lecture. The Craps is described below:

a. Use two dies;

b. If the shooter's come-out roll is a 2, 3 or 12, it is called "craps" and the round ends with player losing. 

c. A come-out roll of 7 or 11 is called a "natural," resulting in a win.

d. If the numbers 4, 5, 6, 8, 9, or 10 are rolled on the come-out, this number becomes the "point" and the come out roll is now over. 

e. The shooter will now continue rolling until either the point is rolled or a seven. 

f. If the shooter is successful in rolling the point, the result is a win.

g. If the shooter rolls a seven (called a "seven-out"), the pass line loses.

6. Number lock: TURN RIGHT two turns. Stop at the first digit.  TURN LEFT one whole turn, past the first digit. STOP at the second digit.  TURN RIGHT until the dial stops at the next digit, DO NOT LET GO OF THE DIAL, pull the door open. 

7. Elevator control

8. Automatic door:

9. 2-bit adder
